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The current structure in 3GPP TR 23.820 on “Study of IMS Restoration Procedures” indicates that the consequences of a service interruption of each node should be analyzed before going into the solution. This contribution contains an analysis of the impacts of  S-CSCF failure.

The proposed additions to the 3GPP TR are the following:
5.2.2
Unregistered User

The lack of service of the S-CSCF in this case will mean that unregistered triggers for the user are not processed. Until the previously assigned S-CSCF resumes operation or the user initiates a registration the following occurs:

· The terminating SIP requests from the I-CSCF to the assigned S-CSCF will fail and there will be no service of unregistered services for the user. 

· Initial originating request from a SIP-AS will also fail, since they will be forwarded to the assigned S-CSCF via the entry point of the home network (e.g.I-CSCF) 
· 
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Figure 5.2.2.1. Terminating request to unregistered user with no S-CSCF response
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Figure 5.2.2.2. Originating request on behalf of  unregistered user with no S-CSCF response
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Figure 5.2.2.X Originating request on behalf of unregistered user in absence of Sh interface 
Even after there is a reassignment of S-CSCF (because of an initial registration) or the previously assigned S-CSCF resumes operation, there could be some problems with the handling of SIP subscriptions to notifications. This is because network elements could have subscribed to notifications in the previously assigned S-CSCF, and they will not be notified of the operation interruption or of the reassignment. The result is that these network elements will not receive the notifications that they expect until they subscribe again. Additional network procedures could reduce the unavailability of service in this scenario.
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